



مجموعه
↓
مجموعه = 9 = 11

مجموعه = n-1 → r(a) = 1 = 11

11-12=45 → اولي
مجموعه = 45+11 = 56
مجموعه = 56+11 = 67

{1, 2, 3}, {4, ... 12}, {13, ... 24}, {25, ... 36}, {37, ... 48}, {49, ... 60}, {61, ... 72}, {73, ... 84}, {85, ... 96}, {97, ... 108}, {109, ... 120}

مجموعه = 120-108+1 = 12 → 120-108+1 = 12
مجموعه = 120-108+1 = 12

(120+108) × 12 = 3024
مجموعه = 3024

مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12

مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12

مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12

مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12

مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12

مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12

مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12

مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12

مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12

مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12
مجموعه = 120-108+1 = 12

